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QUESTION ONE: QUALITY MANAGEMENT ISSUES [assessor's

H | FSE ONLY

Use the information in Resources A and B in the resource booklet, and in the box below, in addition
{o your business knowledge, {o answer this question.

J; The Kakapo Cheese Company (KCC) is a New Zealand-based dairy processing company |
{ that has come under increased pressure from other domestic producers over the last o
few years.
As a result, KCC decided in 2013 to enter the Chinese market with a range of_\._’_thr_ee_
cheeses. This has involved a massive investifient in marketirig and establishiient of
distribution networks. There has been rapid growth in the Chinese market, and KCC L
has had to employ additional new staff. L

In 2016 the head office became aware of a growing number of dissatisfied customers ™~
from its Beijing market. Complaints have mostly been about the inconsist"elflt_._qu_al_ity.
of the product and lack of timely delivery. This is a concern for senior management,
because profitability has recently become a problem, partly due to the substantial
investment required to enter the Chinese market.

(@) Fuily explain the possible cause(s) and effect(s) of the customer dissatisfaction.
In your answer, include:
. factor(s) which may have caused the increase in customer dissatisfaction

possible effect(s) of the dissatisfaction issue on other stakeholder{s) of the business,
such as employees and investors, and consequently on the business.
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The CEC of KCC has been thinking about possible solutions to the issue of rising dissatisfaction
amongst Beijing customers.

(b) Suggest TWO possible solutions to the issue.
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(¢) Evaiuate BOTH possible sofutions.
{n your answer:

fully explain ONE positive effect that EACH solution would have on the business
state the solution you recommend

. justify your recommendation by explaining why it is better than the other solution.
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QUESTION TWO: SUPPLY CHAIN ISSUES ASSESSOR'S

USE ONLY

Use the information in Resources C, D, and E in the resource booklet, and in the box below, in
addition to your business knowledge, to answer this question.

KCC is facing a major problem with inefficient delivery by the Beijing distribution
company to the retailers who are selling KCC’s cheese. Deliveries are sometimes late
and / or mixed up with other firms” deliveries. Part-deliveries may be left for weeks
in the distributor’s warehouse before the staff of the distribution firm work cut which
retailer they were meant to be delivered to. This has been an ongoing issue over the
past six months.

{a} Fully explain the possible cause(s) and effeci(s) of the issue that KCC is having with the
distributor in Beijing. 5

In your answer, include:
. factor(s) which may have caused the issues with delivery

. possible effect(s) of the delivery issues on stakeholders of the business, such as
customers, competitors, and shareholders.
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The CEQ has two possible solutions to the delivery issue -~ KCC could either séli direct to its
retailers, or could enter into a strategic alliance with a local Beijing distributor.
(b) Evaluate the TWO possible solutions to the delivery problem.

In your answer;

»

fully explain ONE positive effect that each solution would have on the business
. state the solution you recommend

justify your recommendation by explaining why it is better than the other solution.
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QUESTION THREE: UNEXPECTED GLOBAL RISKS

Use the information in Resources F, G, H, and | in the resource booklet, and in the box below, in
addition to your business knowledge, to answer this question.

| KCC sees the Beijing market as an opportunity to grow rapidly. While there had been
growth, it had not been as high as expected.

{(a) Fully explain the possible cause(s) and effect(s) of the slow growth in demand for cheese in

the Chinese market.
in your answet, inciude:
. factor(s) which may have caused the slow growth in demand

possible effect(s) of the slow growth in demand on the business and stakehol der(s) of

the business, such as employees, suppliers, and investors.
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(b) Suggest TWO possible solutions to the slow growth in demand in the Chinese market.
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{¢) Evaluate the TWO possible solutions to the slow growth in demand in the Chinese market;
in your answer:
. fully explain ONE positive effect that each solution would have on the business
. state the solution you recommend
justify your recommendation by explaining why it is better than the other solution.
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Excellence exemplar for 91381 — 2016 Total score: 23
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E7

In part (c), Solution One has only been explained, while Solution Two has
been fully explained. The answer also shows understanding of the resource
material, i.e. that the cheese is being manufactured in New Zealand and
exported to China (not manufactured in China), which many candidates
missed.

The conclusion compares the alternative courses of action, and justifies with
relevant evidence the course of action the business should choose. In their
conclusion, the candidate has also introduced the idea that if the business
invests in new machinery in New Zealand as well, it would be able to ensure
that the cheese is of high quality before it leaves the factory and remains in
that state on arrival in China, meaning consistent quality from New Zealand
factory to Chinese retail stores.

E8

In part (b), both positive effects of both solutions have been fully explained.
The candidate has made a statement about the impact, has given the
reasoning behind this, and has also looked at the impact of the strategy and
how it would address the delivery issues.

The conclusion compares the alternative courses of action and justifies

with relevant evidence the course of action chosen — new information
includes explanation of the negative effect of a direct marketing channel: “KCC
may not have any connections in Beijing, making it more difficult and time-
consuming for them to do this on their own”. The candidate has also explained
the long-term benefits of the strategic alliance and the ability they will have to
reach more customers, to gain an improved reputation, increased sales and
more profit, “from which they can expand and upscale their operations
globally”.

E8

In part (c) the positive impacts of both solutions have been fully explained;
Solution One is valid, but is weaker than Solution Two. The candidate has
made a statement about the impact, has given the reasoning behind this, and
has also looked at the impact of the strategy and how it would address the
issue of slow growth in demand in the Chinese market.

The conclusion compares the alternative courses of action and justifies

with relevant evidence the course of action chosen. New information includes
the advantage that a new product will give KCC over their competitors. The
candidate has also fully explained the long-term benefit of Solution Two: “ ...
more Chinese people may discover the health risk associated with cheese,
which is going to give KCC a positive reputation because they have a healthy
alternative cheese product. In the future ... expand their operations if this
cheese product goes successfully, allowing them to further develop on their
products and ...’
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